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Ariswer call the following gquesriorns

7} Find rthe gerneral jform of the equatriort of rthe sphere with cenrer ar the poirntt (-2, 7,1) ard is
rtangert to the xy-coordinare plance ,thiert firid thre normal vector ar the porinr (-1,0,0)

(10 poiries)
21 Firnd arnnd skerch thie egictiornt of the specified plarte
the plarne passes throwugh the porirnr of intersectiort of the two lines L ;& L with riormal
parallel ro the vecrtor perpernndictlar to both L, & L5, where

L ;- x=7-2r , y=of -+ 3z & ==—5¢
x + 7 y — 3 . .
L > - S = ==z — 7 L0 poirts
2 4 p” ( V=4 )

3) L1 3-D describe and sketch the graph of eac/r of thie followirng arnd describe the trace of
eackh at XZ—ﬁvlane.'

D) x-d=z+3y +gz" =02 ii) 3By-Fx=12
iii) x“-4=z-3y"-F="=02 iv) x°-2x +y2—2y~+ 1 =0 (10 poirts)
4) Firnd a set of parametric eqiations for the line rtarngert to the space curve
()= 2cos ri + 2sirrt j+zr k ar the point (2,0,0) (10 poirirs)
3) For the plane curve r(r) =2costr i +2sintj _firnd the _followirig

Z) the unit rangerntr vecrorf{Z(0)] ar =0

£7) the prirnncipal vwurir rnormal vector [IN(O)] af =0

iii) the rtangential arnd rnormal componerits of acceleratior: [ a and a, ] ar =90

(70 poirits)

6) Let Pp be the point (3,-4,2) on the hyperboloid 16x°-NN 7+ 36z"=144 [find equatiorns for
the tangenr plane arid thie normal linne ar Py . (£ 0 poirts)

ZI)Prove that the fienciiorn fix,3)= x- —3y° +12xy satisfies laplace 's equatior: Txt =0
aricd firid its directiornal derivarive in the directiort of v=3F +~4; ar (1,0)

(10 poiries)

Best wishes DDy M . Shefiata
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Beni~-Suef University
Industrial Education College

Electrical Technology Finiaterm Exam
Second Year Date: 13/1/ 2011
Examiner: Dr/ALI HASSAN___. - Fisme: 3 Hour

o ses ;;.1__.:\3:.._ pSas g nggmifx
Answer AH the following Questions Further data required mav be assumed
Q1] (a) (a) State Kirchoff's laws. {12 mmark]

(b) Find the current and power supplied by the 24 volt source in the circuit shown in fig.(1)

[OQ2] (a) in the fig.(2) determine the nodes ,essential nodes, branches, essential branches and
meshes.
(b) use mesh to find the currents, power in all branches in the circuit in fig.(2)

|12 mark]

Q3] (a) Find the current and power supplied by the S volt source in the circuit shown in fig.(3)
Use DPeita-to- WYE transformation

(b) A sinusoidal voltage is given by the expression
()= 300 cos (X200 wr+30°%) what is the:- pcriod of the voltage in ms-
fregquency in I1TZ — magnitude of v at t=2_778 ms.

[12 mxark]

[QO4] (a) In the fig.(2) determine the nodes ,essential nodcs, branches, essential branches and

meshes.
(b) Use Thevenins thermos to find the currents in all branches in the circuit in fig.(4) given that

112 mark]

[OS] (a) Use superposition to find current in all branches of the circuit in fig.(5) and
also calculate maximum power transfer to all electrical resistance in the circuit

N2 markj
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BENI SUEF UNIVERSITY Electronic Department

FACULTY OF INDUSTRIAL EDUCATION Time: 180 min

Subject: BASIC ELECTRONICS Spec.: 2"? Electronics& control
QUESTIONS FOR THE FINAL EXADN

PSSy Salad s asall A0S Ao 9SSl Cubulaad JANUARY 2011
———
, No. Of pages: 2 ’ Maximum mark 60 ‘

| Attempt all questions | No. Of questions: 4

1) =a- Draw the practical and approximate static characteristic curves of a silicon
diode. (6 M ARKS) :
b-- Determine Ig, Kc . I , &, ,. Vg .and Veg ., in the circuit shown in figure 1 . The

transistor has a B = 150 (9 MARKS)
®R1
1 K52
é B N N -
B
Degs l
RB 100 <52 12V C'_L) ; o1 D
<2 — —t E—
10 i< -"—\'_}..- = % T
¥ Vs
I VBB Vout
1 > W ! l _—

FIGURE 1 FIGURE 2

2) a- Draw the equivalent circuit for zemer diode in ideal and practical cases.
b-Figure 2 shows a circuait combining a positive —biased limiter with a negative —
biased limiter .Draw the coutput voltage waveform. .Given Vs= 14 sin(wmt)

c- Sketch the transistor collector characteristic curves for Ig = S A to Ig=—
20 A in S IMA increments assume Bpc =100 .Show on the characteristics
the collector saturation current values and the different regions.

rnote: (5 MARKS EACH)

3) a- Comnsider the circuit shown in figure3 : (9 M ARKS)

i- What is the type of this rectifier circuit.

- Find the peak voltage across each half of secondary winding.
Sketch the voltage waveform across IR,

Find the average load voltage and current

- What is the peak current through each diode.

vi. What is the PIV for each diode.
P. T.O. e
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Beni Suef University English Language
Faculty of Industriai Education Time: 3 hrs
Final Test Date: Jan. 2011
ahe i< 2ic 3 e e e Sic 3= e SPe e Sl Siie JC e e e Fic e e e = E k2 2 F
£ X o £ L = E = o

1. Join these sentences using: so, and, whereas, or but:

1)
2)
3)
4)

5)

Squares are shapes. Rectangles are shapes.

Circles are shapes. They don’'t have sides.

Aluminum has only one type of atom. Itis an element.

Elements have only one type of afom. Compounds have more than one
tvype.

Pure metais are chemical elements. Most industrial metais are alloys.

1. Underline the right word:

1.
2.
3.
4q.

5.

(There are—There is) no oil in the engine.

Cars are (siower—the slowest) than pianes.

Aluminum (have—has) one type of atom.

Drills for hard steel have the (greater—greatest) point angle of all other
drills.

These two gear systems are (different from-—different than) each other.

. Give the opposite of these words:

A
B.
C.
D.
E.

AUVTIOMAIIC ... i iccccaceccsanasanasasr s an
D CrE@CISE i i cccecancsaccasansssasssseasansssnaaseaccenssnns

Negative .. i iec e tecencmecaccecaacanan

3 T='1 2} [N T L LR T TR PP R
slower ... ... ... ..., h e esensenrereemateccesc e ann

IV. Fill in the spaces using words form the box:

greater material Different B
speeds the opposite of smaller than ______‘_4"
hardest - compound _ Element o |

a) Black is ...t ine e c it cacct it white.

b)) This clAass IS ... it ittt ceecnanen from that one. It is bigger than it.

c) The electric dril has two ... ... it ., one is fast and the other is

slow.
d) The faster speed is used forsoff.................... such as wood.
e) Steelisthe ... i material |l have ever seen.

Best of T.uck....



